Write a simplified integral for the length of the curve y = IVH +1dt for 2<x<5. SCORE: /5 PTS

Then use your calculator to find the length correct to 4 decimal places.
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An alarm clock has a randomized snooze feature. When it rings, if you hit the snooze button to silence it, the alarm SCORE: /9 PTS
kVx, xell,9]

waits a random number of minutes (X ), then rings again. The probability density function for X is f(x) = { i 9] ;
s XglL

[a] Find the exact probability that the alarm rings again less than 4 minutes after you hit the snooze button.
You will first need to find the value of % . ,-‘\ NOTE: You may check your final answer using your calculator,
Cl : but you must show all work to get an exact (non-decimal) answer.
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[b] Find the exact median number of minutes before the alarm rings again,
NOTE: You may check your final answer using your calculator,
but you must show all work to get an exact (non-decimal) answer.
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Find the exact length of the curve y = cos™ x —+/1—x° from the point (0, 7 —1) to the point (4, £
NOTE: You ma check our final answer using your calculator but ou must show all work to get an exact (non-decimal) answer.
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2.

x=2-3
Find the exact length of the parametric curve , forte (1525 SCORE: /8 PTS
y=5+¢

NOTE: You may check vour final answer using your calculator, but you must show all work to get an exact (non-decimal) answer.
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